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Static Memory 
Allocation 

Dynamic Memory Allocation 

In this case, variables get 
allocated permanently 

In this case, variables get allocated while 
program unit is active 

Allocation is done before 
program execution 

Allocation is done during program 
execution 

Less efficient More efficient 
There is no memory 
reusability There is memory reusability  

Memory cannot be freed Memory can be freed when not required 

No special operators used new operator for memory allocation and 
delete operator for memory release 

E.g. Array  E.g. Linked list 

Start 
 1: If (TOS < N - 1) Then 
 2: TOS = TOS + 1 
 3: STACK [TOS] = VAL 
 4: Else 
 5: Print “Stack Overflow” 
 6: End of If 
Stop 





alert( ) - It is used to display a message on the screen with a new 
window. 

toUpperCase ( ) - It is used to convert the characters to uppercase 
letter.  

Shared Hosting Dedicated Hosting VPS 

Different sites on a 
single server 

Single site on the 
server 

Server is partitioned 
virtually 

Cheap Very expensive Moderate expense 
Response may be 
slow sometimes 

Fast response all the 
time 

Good response 

Suitable for small 
websites 

Suitable for large 
organization’s 
website 

Suitable for small 
and large websites. 
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Arrays Structures 
It is a derived data type. It is a user-defined data type 
Collection of same type of 
data. 

Collection of different types 
of data. 

Uses subscripts for 
referencing elements 

Uses dot operator (.) for 
referencing elements 

Array within array is 
multidimensional array 

Structure within structure is 
nested structure 

Array of structure is possible 
Structure can contain array as 
element 

Procedure oriented Object oriented 

It is process-oriented. It is object-oriented. 

Follows Top down approach. Follows Bottom up approach. 



Each function contains 

different data. 
Each object controls its data. 

Adding new data and function 

is not easy. 

Adding new data and functions 

is easy. 

Overloading is not possible. Overloading is possible. 

It is less secure. It is more secure. 

No concept of inheritance. Inheritance is allowed. 

There is no access specifier 

They have access specifiers 

such as Private, Public, 

Protected etc. 
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